PARTS LIST FOR

coinfach LP500

1/10 SCALE EXPERT BUILT

Parts code
8085592 Body (Assembled)
1825544 Body (Transparent)
51001 TT-01 Chassis
51318 *1  TT-01 TYPE-E A Parts (Upright) (A1-A10, 1 pc.)
51003 TT-01 B Parts (Sus. Arm) (B1-B16, 2 pcs.)
51319 TT-01 TYPE-E D Parts (Upper Deck) (D1-D11)
9000072 H Parts (H1-H7)
9115229 J Parts (J1-J6)
51005 TT-01 P Parts (Servo Horn) (P1-P7)
6275075 Urethane Bumper
9005859 LED Stopper (2 pcs.)
9335525 Wheels (1 set)
50419 *1  Racing Radial Tires (2 pcs.)
9005718 Wheel Shaft Bag
Drive Shaft (C1) x4 Wheel Axle (C2)

Gear Box Joint (C3) x4 Front Propeller Joint (C4)
Rear Propeller Joint (C5) x1 Propeller Shaft (C6)
Long Wheel Axle (C7) x2
51006 *1  TT-01 Drive Shaft Set (C1-C3, C7, 2 pcs. each)
51004 TT-01 G Parts (Gear)
Bevel Pinion Gear (GB1) x2 Spur Gear Stopper (GB2)
Diff. Gear Case (GB3) x2 Ring Gear (GB4)
61T Spur Gear (GB5) x1

0555015 1150 Plastic Bearing (RB1 x10)
9400688 Metal Parts Bag A
9400689 Metal Parts Bag B
9400690 Metal Parts Bag C
9400768 Metal Parts Bag (for Body)
50583 3x15mm Tapping Screw (MA1 x10)
9805629 3x12mm Tapping Screw (MA2 x4)
50577 3x10mm Tapping Screw (MA3 x10)
50581 3x12mm Countersunk Tapping Screw (MA4 x10)
50578 3x10mm Countersunk Tapping Screw (MA5 x10)
9805636 3x6mm Screw (MA6 x2)
50576 3mm Grub Screw (MA7 x10)
50038 Tool Set (Box Wrench, Hex Wrench, MA7 x4)
50573 2x8mm Tapping Screw (MA8 x10)
9805756 3x32mm Screw Pin (MA9 x4)
9805755 3x22mm Screw Pin (MA10 x4)
50594 2x10mm Shaft (MA11 x10)
50355 18T, 19T AV Pinion Gear Set (MA12...etc.)
51008 *1  Bevel Gear Set (TT-01, TGS)
(MA13 x1, MA14 x2, MA15 x3)
4305125 Motor Plate (MA16)
9805684 3x12mm Screw (MB1 x2)
50582 3x14mm Step Screw (MB2 x5)
9804162 3x20mm Step Screw (MB3 x10)
9808016 Steering Post (MB4 x2)
9805699 *1  Coil Spring (MB5 x2)
9805754 3x8mm Tapping Screw (MC1 x10)
9805662 3x10mm Flange Tapping Screw (MC2 x5)
50575 2.6x10mm Tapping Screw (MC3 x5)
9805859 3x15mm Screw (MC4 x4)
9804159 3x10mm Screw (MC5 x10)
9805637 3x8mm Countersunk Head Screw (MC6 x4)
9805868 2x10mm Screw (MC7 x10)

ITEM 57780

x1
x1

Parts code
9805557
50197
9808058
9805240
50171
50595
87004
87025
53909
53689
7305050
9805520
9495554
9808175
*1 Requires 2 sets for one car.

R/C SPARE PARTS & HOP-UP OPTIONS
Item No.

50356 20T, 21T AV Pinion Gear Set

50357 22T, 23T AV Pinion Gear Set

50477 24T, 25T AV Pinion Gear Set

53008 1150 Sealed Ball Bearing Set (4 pcs.)

53066 1280 Sealed Ball Bearing Set (3 pcs.)

53068 RS-540 Sport-Tuned Motor

53163 On-Road Tuned Spring Set

53293 Reinforced Slicks Type-A (2 pcs.)

53294 Reinforced Slicks Type-B (2 pcs.)

53295 Tire Inner Foam (4 pcs.)

53448 4mm Hard Lock-Nut & Spacer Set

53569 Clamp Type Aluminum Wheel Hub (6mm Thick)
53571 TRF Damper Set (Fluorine Coated, 4 pcs.)
53619 C.V.A. Mini Shock Unit Cylinder (4 pcs.)
53620 TT-01 Aluminum Propeller Shaft

53662 TT-01 Turnbuckle Tie-Rod Set

53663 TT-01 Ball Diff. Set

53664 TT-01 Aluminum Motor Heat Sink

53665 TT-01 Spur Gear Set (55T/58T)

53671 TT-01 Front One-Way Unit

53673 Toe-in Rear Upright (TT-01, TGS)

53674 Adjustable Upper Arm Set (TT-01, TGS)
53682 Aluminum Bumper Stopper (TT-01, TGS)
53696 Super Stock Motor TZ

53697 Super Stock Motor RZ

53779 GT-Tuned Motor (25T)

53792 Assembly Universal Shaft (TT-01, TA04) (2 pcs.)
53800 TT-01 Aluminum Toe-in Rear Upright

53834 Tire Inserts (Soft) for 26mm Tire (2 pcs.)
53835 Tire Inserts (Hard) for 26mm Tire (2 pcs.)
53983 Lightly-Tuned Motor (28T)

54025 TT-01 TYPE-E Ball Bearing Set

54026 TT-01 Aluminum Propeller Joint & Shaft Set
54058 TT-01 TYPE-E Aluminum Racing Steering Set
54059 TT-01 TYPE-E Carbon Damper Stay (Front)
54060 TT-01 TYPE-E Carbon Damper Stay (Rear)

4mm Flange Lock Nut (MC9 x4)
Snap Pin Set (MC10 x10...etc.)
2x6mm Tapping Screw (10 pcs.)
3mm O-ring (7 pcs.)

Heat Resistant Double-Sided Tape
Nylon Band w/Metal Hook (10 pcs.)
Liquid Thread Lock

Ceramic Grease

Tamiya LED Light Unit (TLU-01)
540-J Motor

Transmitter Antenna

Antenna Pipe (30cm) (300 pcs.)
Sticker & Masking Seal
Instructions

o4 TAMIYA

TAMIYA,INC. 3-7 ONDAWARA, SURUGA-KU, SHIZUOKA 422-8610 JAPAN

0209 ©2009 TAMIYA




